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STRAIGHT LINES
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EQUATION OP STRAIGHT LINE
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The equation of the straight line joining the origin to the
pomt of intersection of y - X +7=0andy+2x—-2=01Is
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The diagonal passing through the origin of a quadrilateral
form formed by x_O y=0,x+y=1and6x+y=3,is
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(b)2x -3y =0 | 71(-3 5 39\,%—_:;
(c) 3x +2y =0 _67\* = 5
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SOMEB IMPORTANT CONDITIONS
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The %%tance of the point (-2, 3) from the line/x —ly =5is
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DUISTANCE B/N TWO PARALLE L VINES

Ly at byt <, =0

Ly: &x by +Cp =0
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The distance between 4x + 3y =11 and 8x + 6y =15 is
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The reflection of the point (4, -13) m*the line %x +y+6=0
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If (- 4, 5) is one vertex and 7x - y + 8_:_0 IS one

diagonal of a square, then the equation of second
diagonal is
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Equation of a line passing through (1, - 2) and
perpendicularto the line 3x -5y +7=0Is

M1=O\J 3 = Sy
(b) 3x +5y+1 =0
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